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Section : General Awareness
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Section : Arithmetic Ability
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Q.1 1.75 cm =arw 3T 2 mm FeE T BFas =98 & B & Rorer se &y & 5.5 cm x 10 em x
3
7cmﬁmﬁa‘rmmﬂ#‘?(n=¥)

ans X1..900
v 2800
X 3700
X 4400

Question ID : 1626532285

Q1 ox zfFm 7 =% avg 3= Rftas 777 5 2 W whd i o RRET gem ¥ 20% e woa
ST TS iererT TR 82

Ans x 1. 46%
< 2 32%
V'3 38%
X 4 34%

Question ID : 1626532282

Q; (12)% +(26)% +(24)2 — 18 x 36 + 36 ¥ 44 + 44 X 18
(1.8 +(3.6) —(4.4)> +5.4 x 3.6 x 4.4

Ans K110
# 21000
2 310,000
v 4100

F AT B

Question ID : 1626532273

Q1 5 o 3R veem # RfEwT FAe & a2 5 F ¥ gEEER o W 40% F ge I § Al
6 Zmt T T 30% ¥ A YRR W TEART gE F 87

Ans x 1. 24%
X 2 22%
V' 26%
X 4 20%




l

Question ID : 1626532283

7 33 9w g ¥ ok W T HF 11 W O o R
ans X114

V218

X316

X412

Q.1 =7 m=as TET F 3 F AT F E S 6, 8, 14 3R 15 @ RefeT e A W gedE Hawwr

Question ID : 1626532277

ans f1 g
X2 0
X34
X486

U (5220 +(33)2 - 17)*° % INUTA F FHE TUE W HFAT HF M2

Question ID : 1626532274
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Comprehension:
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Section : General English

Q.1 Select the option which is NOT an antonym of another word by way of adding the prefix ‘mis-’

Ans X 1.
X 2
X 3
v

mishandle
mislead
mismanage

mischief

Question ID : 1626532305

Q.2 Select the most appropriate option to fill in the blank.

The authorities in Datia have done nothing to improve the condition of roads. the whole town is full of ditches

and it is difficult for sick people to reach the hospital.

Ans - X 1. Otherwise
& 2. Moreover
/< 3. In case
v 4 Asaresult

Question ID : 1626532297

Q.3 Select the most appropriate option to fill in the blank.

Indonesian authorities are considering

Ans X 1. abandoning

X 2. emptying

and relocating millions of people if Jakarta continues to sink.




« 3. evacuating
/X 4. suspending

Question ID : 1626532300

Q.4 Select the most appropriate option to fill in the blank.

A football tournament has been organized Sopore, one of the most affluent towns Jammu and Kashmir
and known as the fruit bowl the Valley.

Ans  of 1 in;in; of
< 2 on: between ; in
/< 3. at;among ; in

/& 4 in; of ; with

Question ID : 1626532299

Q.5 Select the most appropriate option to fill in the blank.
~ rainfall in Kerala caused flashfloods and landslides in upper regions of Himachal Pradesh.
Ans 1. Titanic
v 2. Torrential
X 3. Torrid
#< 4 Tortuous

Question ID : 1626532301

Q6 Select the most appropriate synonym of the given word.

EMIT

Ans X1 suck
X 2 receive
< 3. digest

W 4 release

Question ID : 1626532302

Q.7 Select the most appropriate option to fill in the blank.

Flashfloods and landslides triggered heavy rains in parts North India led to the death of at least 22
people.

s of 1 by :of
X 2 For:in
X3 to;of
X 4 by;at

Question ID : 1626532298




Q8 Select the most appropriate antonym of the given word.

DECISIVE
Ans o 1. doubtful
< 2 final

/X 3. positive

< 4. conclusive

Question ID : 1626532304

Q.9 In the following sentence four words/phrases have been underlined. One of them is incorrect. Choose the incorrect
word/phrase from the given options.

After the attack by Talibani extremists six years ago Malala Yousafzai was transported to the UK where
a bullet was removed in her head.

Ans  of 1. in her head.
X 2. after the attack
725 3. where a bullet

/< 4. was transported

Question ID : 1626532307

Q.1 . . I
o Select the most appropriate synonym of the given word.

SUSTAIN
Ans x 1. prevent

X 2 avert

/< 3. stop

v 4 continue

Question ID : 1626532303

°1'1 From the options given below choose the sentence that is not correct.

Ans X-L

They argue that the rapid increase puts stress on infrastructure, demanding more schools. hospitals and public
transportation.

52

However, it also leads to a higher growth for Australia’s economy:.

Vs

Immigrants pays taxes and work in areas that Australians avoid.

p

As in many western countries, some politicians in Australia have called on the government to curb immigration.

Question ID : 1626532308

Q.1




Select the most appropriate option to fill in the blank.

Pyarelal his job last November and since then has not been able to find another suitable job.

Ans X1 lose

X 2 has lost
v 3 lost

< 4. is losing

Question ID : 1626532294

Q; Select the most appropriate option to fill in the blank.

Mr. Kapoor  in this colony for thirty years when I first met him.
Ans - X1 lives
+' 2. had been living
X 3 lived
X 4 has lived

Question ID : 1626532295

Q. " . -
41 Select the most appropriate option to fill in the blank.

it was very windy. we went for boating in the Naini lake.
Ans x 1 If
' 2. Though
/< 3 Because
& 4 Whether

Question ID : 1626532296

Q.1 Arrange parts of the sentence in meaningful and grammatically correct order.

A, around the world. had asked for

B. help as he was rendered immobile

C. Abhilash Tomy, who was sailing solo
D. in a message via satellite phone

E. after a serious injury during a storm

Ans X 1. DECAB
X 2 CDABE
v 3 DCABE
X 4 CABDE

Question ID : 1626532306

Comprehension:




Read the following passage and answer the questions given after it.

A floating restaurant, Ark Deck Bar, capsized near Bandra-Worli Sea
Link (BWSL) on Friday afternoon. As many as 15 workers who were
on-board the floatel were rescued by the police. The floatel was
hosting its last event before monsoon.

“Around 1.30 pm after we learnt about the floatel capsizing off the
BWSL, a team was sent. The ship owners informed us that because of
gusty winds the floatel swung and hit a rock. Due to the impact on the
boat’s hull, it developed a hole through which water started seeping in.
The crew was rescued and within a few hours the boat capsized,” said
a senior officer from the Mumbai Police, who spoke on the condition
of anonymity.

The crew, which had been cleaning up after the boat’s final sailing for
the current season, had tried until 5.30 pm to mend the hole in the hull,
but were unsuccessful, police said. With water seeping in the vessel
dangerously, the crew decided to evacuate and were taken off the
vessel by a patrolling Mumbai Police boat.

BMC disaster control room said that it received a call from the police
at 7 pm regarding the capsizing and the rescue of 15 people. Two fire
engines, an ambulance and a fire brigade watercraft were deployed to
assist in the rescue operations, the BMC said.

Earlier, on Friday, Ark Deck Bar had tweeted: “Experience the
colours of sunset, chilled beats & ocean waves make the perfect ending
of our last evening. We will be back by the end of September, till then
stay tuned.”

Maharashtra government has been promoting floatels as a part of their
main attraction for coastline tourism. Currently, three floatels are
operational near Bandra-Worli Sea Link and two are proposed near the
Gateway of India post-monsoon.

Secretary, Mumbai BJP, Vivekanand Gupta had tweeted twice in the
last six months, alleging that the floatel’s owners had been operating it
without any requisite permission. Having tagged the BMC, the state
government and the Indian Navy in his posts, Gupta claimed that the
authorities turned a blind eye towards his claims.

“It was a fishing trawler illegally converted into party yacht Avior
operated by Ocean Blue at Gateway of India. It later shified to BWSL
after it was renamed as Ark Deck Bar,” Gupta claimed.

SubQuestion No : 16




Match the words with their meanings.

a. anonymity 1. necessary
b. evacuate 2. obscurity
C. requisite 3. abandon

Ans  of 1. a-1, b-3, c-2
X< 2 a3, b-2.c-1
X 3 a2, b1l ¢3
< 4 a-2,b-3, c-1

Question ID : 1626532312

Comprehension:




Q.1
7

Ans

Read the following passage and answer the questions given after it.

A floating restaurant, Ark Deck Bar, capsized near Bandra-Worli Sea
Link (BWSL) on Friday afternoon. As many as 15 workers who were
on-board the floatel were rescued by the police. The floatel was
hosting its last event before monsoon.

“Around 1.30 pm after we learnt about the floatel capsizing off the
BWSL, a team was sent. The ship owners informed us that because of
gusty winds the floatel swung and hit a rock. Due to the impact on the
boat’s hull, it developed a hole through which water started seeping in.
The crew was rescued and within a few hours the boat capsized,” said
a senior officer from the Mumbai Police, who spoke on the condition
of anonymity.

The crew, which had been cleaning up after the boat’s final sailing for
the current season, had tried until 5.30 pm to mend the hole in the hull,
but were unsuccessful, police said. With water seeping in the vessel
dangerously, the crew decided to evacuate and were taken off the
vessel by a patrolling Mumbai Police boat.

BMC disaster control room said that it received a call from the police
at 7 pm regarding the capsizing and the rescue of 15 people. Two fire
engines, an ambulance and a fire brigade watercraft were deployed to
assist in the rescue operations, the BMC said.

Earlier, on Friday, Ark Deck Bar had tweeted: “Experience the
colours of sunset, chilled beats & ocean waves make the perfect ending
of our last evening. We will be back by the end of September, till then
stay tuned.”

Maharashtra government has been promoting floatels as a part of their
main attraction for coastline tourism. Currently, three floatels are
operational near Bandra-Worli Sea Link and two are proposed near the
Gateway of India post-monsoon.

Secretary, Mumbai BJP, Vivekanand Gupta had tweeted twice in the
last six months, alleging that the floatel’s owners had been operating it
without any requisite permission. Having tagged the BMC, the state
government and the Indian Navy in his posts, Gupta claimed that the
authorities turned a blind eye towards his claims.

“It was a fishing trawler illegally converted into party yacht Avior
operated by Ocean Blue at Gateway of India. It later shified to BWSL
after it was renamed as Ark Deck Bar,” Gupta claimed.

SubQuestion No : 17

The main theme of the passage is that:




X @ floatel capsized near Bandra- Worli Sea Link and
" 15 onboard were rescued.

v? a Police patrol boat rescued 15 member crew of the
~ sinking floatel.

X 3 a floatel capsized on its last day of operation
* before the monsoons.

< 4. an illegal floating restaurant sank in the sea.

Question ID : 1626532310

Comprehension:




Q.1
8

Ans

Read the following passage and answer the questions given after it.

A floating restaurant, Ark Deck Bar, capsized near Bandra-Worli Sea
Link (BWSL) on Friday afternoon. As many as 15 workers who were
on-board the floatel were rescued by the police. The floatel was
hosting its last event before monsoon.

“Around 1.30 pm after we learnt about the floatel capsizing off the
BWSL, a team was sent. The ship owners informed us that because of
gusty winds the floatel swung and hit a rock. Due to the impact on the
boat’s hull, it developed a hole through which water started seeping in.
The crew was rescued and within a few hours the boat capsized,” said
a senior officer from the Mumbai Police, who spoke on the condition
of anonymity.

The crew, which had been cleaning up after the boat’s final sailing for
the current season, had tried until 5.30 pm to mend the hole in the hull,
but were unsuccessful, police said. With water seeping in the vessel
dangerously, the crew decided to evacuate and were taken off the
vessel by a patrolling Mumbai Police boat.

BMC disaster control room said that it received a call from the police
at 7 pm regarding the capsizing and the rescue of 15 people. Two fire
engines, an ambulance and a fire brigade watercraft were deployed to
assist in the rescue operations, the BMC said.

Earlier, on Friday, Ark Deck Bar had tweeted: “Experience the
colours of sunset, chilled beats & ocean waves make the perfect ending
of our last evening. We will be back by the end of September, till then
stay tuned.”

Maharashtra government has been promoting floatels as a part of their
main attraction for coastline tourism. Currently, three floatels are
operational near Bandra-Worli Sea Link and two are proposed near the
Gateway of India post-monsoon.

Secretary, Mumbai BJP, Vivekanand Gupta had tweeted twice in the
last six months, alleging that the floatel’s owners had been operating it
without any requisite permission. Having tagged the BMC, the state
government and the Indian Navy in his posts, Gupta claimed that the
authorities turned a blind eye towards his claims.

“It was a fishing trawler illegally converted into party yacht Avior
operated by Ocean Blue at Gateway of India. It later shified to BWSL
after it was renamed as Ark Deck Bar,” Gupta claimed.

SubQuestion No : 18

Which of the following statements is NOT true
according to the passage?




X 1 BMC disaster control room received a call about the
* capsizing of a boat at 5.30 p.m.

x 2 Before operating as the floatel. The Arch Deck Bar
~ was a fishing trawler and a party yacht Avior.

Maharashtra sovernment has been promoting floatels
v g P g
as one of the main attractions for coastline tourism.

x 4 BMC deployed two fire engines, an ambulance and
~ a fire brigade watercraft to assist in the rescue operations

Question ID : 1626532313

Comprehension:




Read the following passage and answer the questions given after it.

A floating restaurant, Ark Deck Bar, capsized near Bandra-Worli Sea
Link (BWSL) on Friday afternoon. As many as 15 workers who were
on-board the floatel were rescued by the police. The floatel was
hosting its last event before monsoon.

“Around 1.30 pm after we learnt about the floatel capsizing off the
BWSL, a team was sent. The ship owners informed us that because of
gusty winds the floatel swung and hit a rock. Due to the impact on the
boat’s hull, it developed a hole through which water started seeping in.
The crew was rescued and within a few hours the boat capsized,” said
a senior officer from the Mumbai Police, who spoke on the condition
of anonymity.

The crew, which had been cleaning up after the boat’s final sailing for
the current season, had tried until 5.30 pm to mend the hole in the hull,
but were unsuccessful, police said. With water seeping in the vessel
dangerously, the crew decided to evacuate and were taken off the
vessel by a patrolling Mumbai Police boat.

BMC disaster control room said that it received a call from the police
at 7 pm regarding the capsizing and the rescue of 15 people. Two fire
engines, an ambulance and a fire brigade watercraft were deployed to
assist in the rescue operations, the BMC said.

Earlier, on Friday, Ark Deck Bar had tweeted: “Experience the
colours of sunset, chilled beats & ocean waves make the perfect ending
of our last evening. We will be back by the end of September, till then
stay tuned.”

Maharashtra government has been promoting floatels as a part of their
main attraction for coastline tourism. Currently, three floatels are
operational near Bandra-Worli Sea Link and two are proposed near the
Gateway of India post-monsoon.

Secretary, Mumbai BJP, Vivekanand Gupta had tweeted twice in the
last six months, alleging that the floatel’s owners had been operating it
without any requisite permission. Having tagged the BMC, the state
government and the Indian Navy in his posts, Gupta claimed that the
authorities turned a blind eye towards his claims.

“It was a fishing trawler illegally converted into party yacht Avior
operated by Ocean Blue at Gateway of India. It later shified to BWSL
after it was renamed as Ark Deck Bar,” Gupta claimed.

SubQuestion No : 19
°é1 What was the reason for the floatel to hit the rock?

Ans 1. Cloudburst




' 2. Calm winds
< 3. Gusty winds
#< 4. Overload of people on it

Question ID : 1626532314

Comprehension:




Q.2
0

Ans

Read the following passage and answer the questions given after it.

A floating restaurant, Ark Deck Bar, capsized near Bandra-Worli Sea
Link (BWSL) on Friday afternoon. As many as 15 workers who were
on-board the floatel were rescued by the police. The floatel was
hosting its last event before monsoon.

“Around 1.30 pm after we learnt about the floatel capsizing off the
BWSL, a team was sent. The ship owners informed us that because of
gusty winds the floatel swung and hit a rock. Due to the impact on the
boat’s hull, it developed a hole through which water started seeping in.
The crew was rescued and within a few hours the boat capsized,” said
a senior officer from the Mumbai Police, who spoke on the condition
of anonymity.

The crew, which had been cleaning up after the boat’s final sailing for
the current season, had tried until 5.30 pm to mend the hole in the hull,
but were unsuccessful, police said. With water seeping in the vessel
dangerously, the crew decided to evacuate and were taken off the
vessel by a patrolling Mumbai Police boat.

BMC disaster control room said that it received a call from the police
at 7 pm regarding the capsizing and the rescue of 15 people. Two fire
engines, an ambulance and a fire brigade watercraft were deployed to
assist in the rescue operations, the BMC said.

Earlier, on Friday, Ark Deck Bar had tweeted: “Experience the
colours of sunset, chilled beats & ocean waves make the perfect ending
of our last evening. We will be back by the end of September, till then
stay tuned.”

Maharashtra government has been promoting floatels as a part of their
main attraction for coastline tourism. Currently, three floatels are
operational near Bandra-Worli Sea Link and two are proposed near the
Gateway of India post-monsoon.

Secretary, Mumbai BJP, Vivekanand Gupta had tweeted twice in the
last six months, alleging that the floatel’s owners had been operating it
without any requisite permission. Having tagged the BMC, the state
government and the Indian Navy in his posts, Gupta claimed that the
authorities turned a blind eye towards his claims.

“It was a fishing trawler illegally converted into party yacht Avior
operated by Ocean Blue at Gateway of India. It later shified to BWSL
after it was renamed as Ark Deck Bar,” Gupta claimed.

SubQuestion No : 20

Which of the following happened first?
¥ 1. The crew tried to mend the hole.




/< 2. The boat swung and hit a rock.
< 3. Water started seeping in.
#< 4. A hole developed in the boat.

Question ID : 1626532311
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A= fedr 1T rgamer # T I8 T FRAl F Feal el

¥ s o & Faer # W R g A ¥ R & o
g e # 3y femr a7 3R R e uw defea
HT IS AAGT F AN Fd ¢ AR FIUT HTAT TATTLH T
AT G@RT| AT e Feerst 99 1 HEH IiHE Aes TTHEE
g ST 9o O % HYF AT B HAT W AR g1 AT
ICTIUFT HT o GO 3Ty ST Tem [ freatfaT i
Hergerer 3nfe {fF ares & ==

SubQuestion No : 1
! sEEeiET AT & AEH FT AN &
s 1. Freufaes
v W
X5 gars
X o e

Question ID : 1626532320

Comprehension:

A o 91T TTEarer #F 9E U T WAl & 3eal gl

U3 TMfaee a9 F Faed & TH HR F7 FA F IR F wF
& Aes # Iy femr mar g AR fgmmr mn § R IR aea
FT ITA AATGT F AN Fd g AR FIUT HIAT FTATTLA
AT ganr| S MAg oy U9 & gad Iiie As TTHFE
g S ToaAT U1 F HUF <URT HT Fer oY Hema gl s
IETAFT HT o G0 3T e Ter [ feanfaT sl
Hergerer yfe §fF At Fr @

SubQuestion No : 2

Y ger mT B FAT W IING AEF FiT qT §?




Ans o1 oot
X 2w
x 3 ;
o 4 TAHDBCT

=

Question ID : 1626532318

Comprehension:

A f&& 1T TEaTer F gt IO T WAl & 3cal AT

s 7faee T F Faeg § 17 AR F507 & F I F vE
& e ® Iy femm mar ¥ 3k R g aw Al
FT 9T AATGT & AN A ¢ AR FUT HIAT FTATTEH T
AT G| AT AT Fearst 99 1 HEH Ii@E AeE THEC
g Sl ToaAT 9T % HUF <WT $T AT W AT g1 s
IETAFT AT o SO HIT T e [ frearfaT 3k
Aeegarer 1fe Hfy A :r == F

SubQuestion No : 3
¥ o F FiT W@ AeS 3EAAFT 0T FT LT &7
Ans 2"(,1 .
<2 Teafaw
W 3 SSTARE
™ o

Question ID : 1626532319

Comprehension:

A &3 71T arEarer # 9EH U T WAl & Bea} gl

¥ TiEeg a9 & Hded H IHF HR F50T gAr F IR F TR
& des # Iy G mar g R R e § & ouw e
FT TTel FART & AN FLd ¢ HIT FIOT HAT HTadaimd
AT G@RT| AT AT oot 97 1 FEH IaE Aes THEe
g Sl ToaAT 9T % S <UWT $T AT W AT g &

3T ¥ o SO T ot e [ fearfaT 3k
Hermeren sifg {fF areewr Fr wm=r &

SubQuestion No : 4

1 A Feor A SfE @ frw Aew A
T [T I@T AT 72




Ans x1. ITT
A 2 FermeTer
X 3. TSTHFE

e B

v Fdem

Question ID : 1626532316

Comprehension:

A TG 1T Trg@Ter F e IO T WRAT % 3eal AeT

S TMiaeg g & Fded H 7 AR F501 gt & IR #1 o
g e # 3y femr mar 7 3R R mw @ R el
FT IS AATGT & AN FI ¢ A FOUT HIAT FTATTE T
W g AT e Jeas 99 1 waE 9f8E AeE TSHge
g S Tee 9T & HYE TRT Hr FHUr W AR g1 A
IETAFT AT o SIITOIF MU oo e | feanfaw sl
Hergerer 3nfe HfF Arest F == F

SubQuestion No : 5

¥° Feor AEfea F UeE FH w82
e X e & gEn

X 2 FAET F @A

X 3 TSAd ERT

v o SEETTE Wl ganT

Question ID : 1626532317

¥ fom # T # T ¥ 9 uee AT @R

Ans x.lmrﬁa;
X 2 cgagi®
v 5 eTTaETiE
X 4 TaEils

Question ID : 1626532335

7 Sy & ST @ gEw B
Ans x1m

W 2 dcged

=




X 3 Hegdrsmg

Question ID :

1626532327

W mEa # fFew g
Ans of 1 ITATES

X2 g

X 3 HeTEd

K 489

Question ID :

1626532332

e FT qTEEET A6 T
Ans {1. ﬂ?—ﬂ‘q'

X2 gdq

K3 HAFES

=

K4 qarg

Question ID :

1626532331

% I T dX S T F HYF Hr

Ans X1 e
X2 3o
v 3 gt
X4 dT

Question ID :

1626532334

§ foew & @ FiF @ owee o A
Ans (1;‘:'::'?

X 2 FEgeET

< 3 FeTH

X 4 T

Question ID :

1626532328

Y S § T @ oo e 7

Ans




X g

X 2 fmarfarer
X 3 AT
v o g
Question ID : 1626532323
Y e A T T e AT
Ans xl E]?EI'
X2
v 3 e
X4 Eue
Question ID : 1626532322
Q.1

Ans

‘T FE YR & 94T 27
V. STEETE

A 2 ggrdETeE

X3 afeEraes
X4 cofeqaras
Question ID : 1626532324
Q.1 4
5 ‘3ecd H 9O g
Ans X1, 3
X2
X ¥
v
Question ID : 1626532330
Q.1

Ans

‘aﬁw%@rmﬂﬁﬁrﬁm%‘?

1 FUTETER

=

X 2 gi@TeT S
X3 graeanfEeR
X 4 gEgTET

Question ID : 1626532325




UV S BRI s dvT 7 @ F AT T g @
Ans o1 gy

X 2 e

V'3 3T

X x

Question ID : 1626532333

% e F Tt i
Ans x-|_ T
X2d
v Ry

R

Question ID : 1626532329

UV R A AT T uss amE

Ans x.l. aﬁ
X2 gH

X3 g
v T

Question ID : 1626532321

% szEwer # oY R=oe gem
Ans X' 1. 35 + TA
V2 3d + ST
X5 3% + 504
X4 3q + T

Question ID : 1626532326

Section : Subject Related

! B ¥ TS TR & |
s X A AT w H gog R Smar §
X 2 BT EFeTTHT H HOET JH T Jar 98T I &




Vi AT BT IR @ § H WA G A g
X4 o 7Y FER & 9gd & AF & A5 A8 I9 §

Question ID : 1626532346

Q.2 FE et 3R FT & BT / THEH F WER-EAE FT SIQGT AT &1 § , a7 TF 7 Tieiad FIaT
&7

Ans K1.
et orF / orEst 7 HeA-Terearw YT ST TEar g

X 2 et F FlemgerqoT FeT THE B
X 3 et e & AT SO AET B
v o fRvetE oI / oTEET § T REiag T TEar £

Question ID : 1626532345

Q.3 e & Ml gf TR e HaT F AY TN I T Y @ E| Il 3 Rentit s e
TG F F5 FROT TAC AN o F 3@ W HEE0r F w waf feew gew F fw g
o frferrr S seae o @ IOEeT o w7

Ans 31 gratr Rier
X 2RIt e
X 3 ot
v ¢ goEEE FEror

Question ID : 1626532349

' TeETeEE Rt ¥ a1y & aTseicsRr # TTEET I A

Ans ?{'1,
3R 9T % e Aeas &9 § qEfeid g gl

X2
g e 1 U # 389 AT F HIFEA - Fegeo] WgEd & &9 A 94T
v s
mmﬁmm%mmwmﬁmmma?ﬁ#mﬁm
ST Herar 2

p
3Ri [STH T $HS HINSHA HA & G AT F @ F T A ST

Question ID : 1626532342

Q.5 g urar = B oo wET & 36T oS ger @ Wt @ oy [ ored ¥ ST saae #r aneEeT
AT I T@T T A IF 39S T H W A F AT ¥ arw F A F w4 g N FFar 82

e X 1. et TeEa: AR ¥ @S B
V' 2 e THET: FET YeUS H NEHY B




X 5 et TaEa: U S5r FAT § 9eT W@ ¥
X 4 TMeTR o WIS FET P HAg FY AT B

Question ID : 1626532344

* drgar F 9fFT F mgeIqT T
A o 1 LTI

X 2. garaEr

v 5 oo

X4 gg

Question ID : 1626532341

7 gRTSAEROT T WATRF Far gar 2

Ans =

X1 FE
X 2 FASA
X3 AT

v i ofEr

Question ID : 1626532350

o8 gmTIr e At & frw TR @ swHeT SR S §
s X HTeRETE (FrHeETeT)
X 2. HaETSaqor

~
PO C o
v i FAACHS
Question ID : 1626532340
Q.9 yidses 3 wur ¥ T UF a=0 F @S F 0 Fowey AE AT ST GRw s sy war

e X ot 3R gee @ e
X2 g9E # TEAE
v © gearar F TaE
X4 w1 RTm

Question ID : 1626532337

Q.1




v e F2 HE F IEEIVT FUAr F AT T2 HT A9 F 9 How g9 @ 9 e e sreams
AT &7 39T & I &2

Ans o 1. g
v g s
A3 3TEry
X o ferardy

Question ID : 1626532343

01-1 drea F gfesar & auia s & B es v e (insight)” e #1 3Tt RRam 7
Ans X 1. RIS

X2 TR

v 3 PIEeR

X 4 UTETER

Question ID : 1626532338

Q.1 g qiEreaAEAs SFE HaeAs [&arg f7 98 ATEr o ggaw aF % wiea i sugea
2 ounr & gt ¥ T fw e & afd e ¥2

Ans x1.4_53ﬂ_
X22.63a%
X311 a9 & 815
vi7-11 a9

Question ID : 1626532336

U e 1| B T I AT AR AR ¥ Hed W E S T AT
Ans x1_ m

v 2 3EFfET Famwor

X3 ER T a9 Far

/< 4 TRTeTT

Question ID : 1626532353

041 AT #F AN HeH & 3709 o4 [haT =T HeaTl 9% e fbaa sfadriea &ar or?
Ans ?(1 gﬁ_

v 2 argaeEr

X3 T

X4 s




Question ID : 1626532351

% oo F "gedeRer #§ AT e wfe?

e XK. Taearers #r wem H
X 2 e AT & AT
v o FTST HE=ROT & I 15

X4 e FeT H

Question ID : 1626532339

% wF Rt & wrufder affe = e 37
X ol @Y seeTEe e
X 2 R T FrHEET FT ST

V' 3 3UCIATeHF TS 1 3T
X 4 T T TE

Question ID : 1626532354

Vs AaresSasamdwmwamaas ™
Ans X1 fRrers e Rrgarar ¥
v 2 TTT WA TE CART FHE H FRT WA 8

X o fveres eomEdTeT &aT B

p
fRreter Sherer TTSTYEASR F ITAT FA FT SAEA FAT 8

Question ID : 1626532347

°é1 Arfafag & ¥ 39 o FuF Fes F TN T T ¥ e 82

Ans K-L
forers oo afafafint o #ta § S weh Temfiat o s seme TEEE F TEdTe AR HT
FT FTET T §
X2

TR afafafat o & 5 femfiat & wERE e 9% $ 3907 S ¥ eRe @ sEE
EE]

p
Feanfiat & ow e & das & #AR suer T TR w= ol

v et AT g BT A 9T AR 2 2

[




l Question ID : 1626532348

U argeierdr ganT R e Ay AfSEe 3ed (MKO) T sEar 27
Ans ‘,1.

a7 &El TIH FEe, WEHAT, HHeve & Ao Rhal off UF sutad § HeHd § S A d geel H
EAT THF U SUET WEHST WS &l

X2
TE ATH T 3YLIT Fl Fr SEHEEHT T &7 § g0 gl

p

g AASE & T T g A aaEoT Sched A % (o GRICIERE F e g

X 4 (MKO) =T H&{ITeY HeET Alelotdel IR ¢l

Question ID : 1626532352

Q2 gicthdie Fa-Rar 3T o= & seatEa #r 5@ o e w1
e X ranferees

v Feifares

X 3 waSaTeH

<4 Pepr Tt

Question ID : 1626532355

! R @ GeTFEA Fi g w2
Ans ‘,1.
e a1 30 & T=w, FF 3 Ewsdy T F §E
X 2 TemmerT weus
X 3 =T WIFR
X4 fRrer 7

Question ID : 1626532373

? greTEE W= F FS I FI HT METSAT Bt 872
X R sl 9 F e

X2 mefds 9 F =
v o FEEfAF FRFH IF B F TEd

X 4 et av F a1g




l Question ID : 1626532370

Q.3 & Hgan, e smemear TR o / ol @ sEEE eTwA degged W e
FRFR §| Fggew & mAEeE AT wERr anfEe #)

A X1 RveT @ sRER (3IRER)
X 2 ST qAaErE 9ive (FRETHTS)
v ¢ aeEa cofed fRen affEas (rEdkv)
X o ATHT FT T 7 S F e wEwET

Question ID : 1626532369

Q4 FT e el % AgeaU AR AU F eIEA & S Ff FF &6, 9F F Ay et #=
T F AR A % T SRy T AING 9T # § 9I5aEA # Agg # HEAS ae W oI & o
R T 2

X oo At segEu= AR g i
X2 T FRH TG
X 3 ST UreTEH 9RqeT iy Ewrm wfaf
V' 4 ST 9TSTEH FALET

Question ID : 1626532363

QS Srafafdm & Fia o Reey et # A F gufead e & A9 F e 78 8
e K Rrerst T gfdetor

X 2 FJY Fr 3T

X 5. TR =T

v 4 o Fieg Tewor

Question ID : 1626532374

Q6 = R F ATH TAC St Tl o FoAT [ @1 e T S E
e X R
v 2 et
X s gread
X 4 ifde

Question ID : 1626532356

Q7 Srafoad Fudl § A9 GeAT T FEeATT gl

e (FREeH) FYUTET T gier § Fatn arerws (Feew) gue e g g




o ¥ g e 3
Vo H 39 FuF @ 0 O FEHA g
X o # 30 FUT ¥ FWEAS ¢
X o & 57 FUT ¥ I RE IEAT &

Question ID : 1626532372

Qs GEﬁ'qattu#al:dﬁaqicdldgtsﬂ #ﬁﬁﬁﬁﬁﬂmﬂgﬁﬁwwé‘?
Ans Kl m:ﬁ
v 2 HifEEY 959

X3 =y
< 4 TIT T HTHOT

Question ID : 1626532375

Q.9 e T wHdeT 4 AT fam 2030 T AU gEa T & Aiw & B s R s oaftw =
o HT AT ¥ W@ SDG (THALS) F OO ®9 FT 27

A X 1. grerer FFeEE TS (Social Development Goal)
v 2
HEEATS 2FeT9Ae e (Sustainable Development Goal)
X 3 Td=g IgaadT Mo (Standard Development Goal)

X 4 fires 9ede e (System Development Goal)

Question ID : 1626532368

Q.1 1980 gere &r yeaTa # qrey R # O AR SEWET T W SHEAE 79 § R g1 sEer
0 faepra spearel TR ReT # g3 o ey 'R W wufaw v @ T YA g G A
TRttt 3 ST fomar ST am

A . ETeTTT AT
X 2 FEO-AATS S "
X 3. Zorgilereh Hel
v o Jied A

Question ID : 1626532358

Q.1 fah Fomelr wam & 9o wAT R &% 9 §o @W o [ o & BT % o § g ww
1 ¥ RfefRe & ¢ F9 o o7es 309 79 @ Fe7 & gERuT F gAY w0 i

Ans K1-

T F TAE H I F & AR T eI # wew-ed O F= &, snw et wr s
FEEAAT H Adg FT




X2
AlfEs & ¥ 927 9o 3t sEaae F v sfofeg aqa &
p

HEHFST & YHR & HYR 97 Tg-ere o ey Remet ¥ gear o ik ot & g B
T F FEAT

v &
ST & FHT &, TS A F A o ik Ry afe @ @l # gvga wer

Question ID : 1626532367

Q.1 zg gmr 7ran § & AW F T WY FTET g3 G & A 9 3§ A F Foww B v E A oIw
2 rufew g T &1 sEET a9E w9 A A7

A o1 3rerET B A
X2 SEE
X 3 JraATcHS SEeT
X4 grafas S

Question ID : 1626532357

& PR Fuet & B TR & ReT F gue R ST @ 27
1. T8 AEETeeaT e B
2. 7g =g @@t & ow e g
3. Ug AT F Heasd S H GReT0r § S wawar g

Ans J.Iqai.a_ﬁ-}_ﬂr
2 e w7 HeT
X 3 FEaer e

X 4 oy TR

Question ID : 1626532359

Q.1 zg g@r 71 § T Send et & @ T S Gl Sl SEmH g1 S9E Samer J%he ) 8

4 e e 30 Frem F ofy Su aEelr O § O deaea e T
Are X TR Rrer

& 2 e fEraT

v 5 zrgEieE R

X 4 FIATSIE rerer gieveToT

Question ID : 1626532364

Q.1




T T Fua 8 9hR Fr ReT F eEeas e 7
o THEW ¥ Yue Reand ik Rew F f= 7 v & e Az @ s
o CI-AXHT TEAVUT T HEH-TeT
o TAE & o faeamdt & cfedea w9 ¥ ger
o SilcHRrEApa g & R

e X siteiferhr FewEy & g R
X 2 gig e
v 3 gTET fReT
K+ e glawn & g R

Question ID : 1626532362

Q.1 2= (1976) & & wafET % ¥ St #  caiae, weees dt s R @ g
6 & ¥ e et sk s wagh At & S & TEeT F 3R A ¥

e K ot e
X 2 stz fveT
Ks.m&rﬂ‘a‘r
v 4 Shaaada AT S RreT

Question ID : 1626532360

Y reEEsE O F R 0T F Ry w2 e 82
A 1 3T IS AT

X 2 WHEIA F GIA FAT

X ey Al &t

X 4 gZfy gT S

Question ID : 1626532371

U fafese Reedt # ¥ frw o fonar argerem? &2

I o9 & & & Ber & [arg o sgrar a4

SR smunst % e ik @iy F e dupa # R @ges &
HATTSET ATNTHT 9T faR SR &

R8T & & TR R &S 79T FH ITAT HaAT|

e X 1. AT ITeTEH FAYE@T, 2005
X 2 ST IISTEHE F@r, 2000
v o e e FifT, 1968




K o TErT AEF FgEuT AT ST 9fivg

Question ID : 1626532361

Q.1 N TET TGS F araEre F e & g5 F a0 # aden AR 3 o & e
9 Ty ¥ FE W TR R HeEET = F wee ¥ glead T g

Ans ?(1. “ﬁﬁq_a:rr
X 2 9w fRrew
X< 3 plerer menfya e
v 4 gaTaeh fRer

Question ID : 1626532366

Q.2 gerpe & wsfral 3R 590 #F TR 3T &, AP deT & e gF &, R oRder st
0 srdmme s, ¥ Rt & faw sveh go O wEAfT § e swamm F i ==
EuC|

e Ko A g
X 2 P gaeaeiear
X3 ¥R e
v & ARreF AT

Question ID : 1626532365

Section : Subject Related

Yt @ F W@ A 9 gf & A @ 32
Ans x.lﬁ;';n
X2 o

X3 g
VAL

Question ID : 1626532390

O Rem # A F IILET F TEY HgAIUT N AT 372

A X . favamr fr oty 37 @ o F
X 2 38T & FETT H FAT A

W3
afRae FAT I IUTEeAT H TAT IEAT A g1 AT g




X 4 =ger ot O F FH FT EIm B

Question ID : 1626532381

** LCD &1 @ ot ' &

A X1 @mer #18 2T@@9X (Large Card Developer)
X 2 fafdss #erx B (Liquid Colour Disk)
X 3. Tif9as Fa9e= B (Liquid Connection Disk)
v« fafFag Tereer BT~ (Liquid Crystal Display)

Question ID : 1626532379

Q4 3= =% Rerw st T AT Y ¥ WET TS F STOA A § A 38 F SE A

Ans

X1 T EF FT ATH ZETHT HIAT ATH STolaT =gTl
X 2 HTITHAT FFER SHH TRA e FeT|

X 3. TFTRIE FEee] U0 Hesidl dMgu (TE)|
v+ SEgf # FuifRa Hest g =g

[ Question ID : 1626532376

Q.5 3pw g o = o RRE T OO & w2 § e T oar & ¥ 5o e e
o 3T 3¢ FAT Tl a9

Ans "1,
A & e & 3T 39 AE-far = 57 S A7 §90)
X 2

qar ST fF FET 3T 3T mw“ia:\‘afra‘rﬂwé’rmm?ﬁgm%l
X 3. oger A S Tl ST Ig= Y AT 99 399 Fe
X 4 FEAI I HALET FI

Question ID : 1626532377

¥ OHP & 7 ot w7 &

A 1 3R g2 =TT (Over Head Projector)
X 2 39T gIic 9enHE (Over Heat Programme)
X 3. 39T g WA (Over Head Programme)
X 4 39T g8 ®eT (Over Head Printer)

Question ID : 1626532378




V emF ¥ Y AW aETHEAT ¥ BT S S 2
Ans ?(1%3 %

]

v 2 fErerteear
X3 amErer A
A4 TErTiteaT

[ Question ID : 1626532386

Q8 gummative assessment is used as:

Ans X 1. Assessment for learning

< 2. Assessment as learning
' 3 Assessment of learning

K 4 Assessment in learning

Question ID : 1626532383

Q9 wmTeHE e Y FEY =S aiE ¥ FE w # afty B 5 war 32
A X Taeamdf st R & @ $F ve arr

X2 g lreT

X 3 et #r v sy

v o et A Remfiar & & Feea fr aEerd

Question ID : 1626532382

% T sfa-gmer (Frsde) Rt & mee e @ war 22

Ans (1.
TEEIET f I A 3R R g F ey A

X 2 et gaicafed Fe arfe 3 JgaR
X 3 gur ¥ for mifes waT it v &
X 4 Remfiar = o RAftse = 7

Question ID : 1626532392

QT el Wi Fr e s # wEe fhae st & seew R AT a2
Ans x-]_ 22
<220




X318
v 14

Question ID : 1626532387

U grrgeEfag gdufae geue @i F B o # seafia 2
ane 1. 20

X219

X318

v 17

Question ID : 1626532388

Q; i TR F orE = ey ik gty e S #§ © w5 & s e o w7
Ane X 1. fedrvur-gesvor
v 2 sffFe e

X3 =T
X 4 =OTEOT

Question ID : 1626532395

% weat & o A B IR Fa w @ 87
X1 o FEET T e S ¥
X2 g i & s

ViFg I EAAES T Y AR A F
X4 FF F9maT ST g

Question ID : 1626532389

U =fRRE ¥ e 9T F e B
e XK1 S oTEr @ 9feT F Riw SuR =T
X 2 JY g & T g&ae FT 39AET FI9 &

X3 S BrEr & =0T QTEET 396y a2

Y &
TR 3R 3T Fest & FRT o sReATyt A s Sae w3 gl

Question ID : 1626532393

Qé1 orHr # erEErEer F guUR F P e aw & afalfmt Fr deer sa s e oo




Ans X1 FU oreat Fr UeAT

v ey, 9sed, Fiaas
X 3 JT 9tz for@aT
X 4 JT 2T FT IS HLAT

Question ID : 1626532385

Q.1 Fr=fafd #ua W 3= &1 3t sRg fFFe &1 =37 &1
7 ofr gm o, wEw T § @ ¥ W S g g & ok oE cofee s aeen A W
HehaT B

XK T w S g
X 2 gg 3Tl FTAEE B
X 3 I T SAFE 2
v 4 Tg TE FHERT ALl ¢

Question ID : 1626532380

% o ve ¥ BT weeRs e 2 2
Ans x1_
o T & ey W A e $r wgiemd el

v 2 0T F ST H OIS & AT 9 H A HT
X 3 quaFgd fAeer WEaar #1 sTaATe T
K4 Tl BTE B 3AF FH F d@d oA Tl

Question ID : 1626532394

U o F A F 3k Fr ITCTET FIerE FaET AT B

Ans {1‘_%;'#,1:'3#
X 2 gee ; orEe
X3 g ; forae
K4 dree ;g

Question ID : 1626532391

deﬁaw;q‘g%aﬂzqwaﬂ?ﬁ F ST s Fr T FF g Hr S ARe?
X Srufngd Rem & fadeh et & w9 #)
X2 graffes @eT ¥ 9ud o9 F w79 H




X3 wrafEes Ram ¥ gRdw a1 F w7 H|
v o grafde fRer & g & w9 A

Question ID : 1626532384

! S Fr T F AT w4 Siegea BT S g

Ans ‘,1,
I O F AfaE dR i T # AR 7
52
g TN T ST WA § alleh NaTH 3 FE S T F Tehl
X 3 g T T fgaw & o wFE g

X 4 Jg AT IR 7 dfFa g

Question ID : 1626532411

Q.2 fau 71w wue oY EER #Y M SR eeT a1 wm i)
TaaRoT T F qET Hefhg oo F REARRE § A Fe g e
a. ATEAREE THe & g, Tpiae Ak g, GeE ¥ wa g
b, SIHETIHT & T AgeaquT HqE A T B AETHAT
c. 37¢ THEROT ¥ watHw FEranst s TRt MR e, geuee e AN gresT s &
TETH AT

Ans Viasdgcas¥
X2p3iRcamr g
Xspakdadr
Xaagsrbadrg

Question ID : 1626532400

Q.3 arFafas e TRt & g Fafea & Ffw shew Ftue #1 fFw o g gher 82
T=efEe § & S @1 FEi=ar # ¥ qRAT T AR T F A=Ee £7

A X anfEre S (3RTEe AEeEw)
v 2 SaE FuTT
X 3 FaT Fr egFUT
X o afera &1 AT

Question ID : 1626532415

M e & @ P o aes #F 3Ty 78 T Tear 22

Ans




X . BrfgEar ¥ 759 ol
X2 BEifsor & 9 o
X 3 Breesioar & 7vg sE/oET

v 4 3T EIEISIE]

Question ID : 1626532407

Q.5 grufier =wor # ey oeat 3R O onfde &=t # gafEwer sewms 9w S forenfye & g
& 38 TaTRoT FEeaAe o o i e F Tvm F afiw S &

" 1 wEfREE SeTTEaE
X2 sier: Raear e gead
K 2 ST TEAR
X ¢+ g aeagERh

Question ID : 1626532401

Q.6 fygmem F T W T AEE 39 F BT & 39 HEET S YOTRET gt § AT s
HTait F e F R w7 R e §

e X sfemra, spier 3R TS e
X 2 sfaEmE, T AT AT A o
X 3 g, A A AR 9T Sae
v o 3foETE, oFie, T AT, 3reenE

Question ID : 1626532404

Q.7 grufeers feamer % oesa & B o & o TR w5 onfee B s R SfE ==t
I BT TET F HR 3§ FEE W F Aeg w7

X 1. TSt 3R e
X 2 g, e, ik

X 3 veeifesn, SHaTEeS

v
glzar, IFsar |, Fehell, TICAT, SHATA, SHaTSl, STeiraTel AT FU<|

Question ID : 1626532409

Q8 Who has developed Mastery Learning Strategy?

Ans o 1. B.S. Bloom
& 2. John Dewey




/< 3. Dr. Howard Gardner
X 4 David Ausubel

Question ID : 1626532397

M = rer B g o i e e i )
Ans X1,

Tt B w1 oseaas guEr f FRear dk @l gEw sogea o svme & owew g
F & T AgeE gl

X2
TR AT F 3eTTT Tg T H Feg FT ¢ & Tpfas TEeat & g el gHR & Hir mfr
TR W TEEUT FFH FET gl

X s
Safafraer v gonfoat #F Reed @9 § a9 % 39 B FEee % B e e w seaas
faarr &

o -
freareT TR W TR0 A & 3euae i SO9Eur SEiAT Y e § O oo ol FAEanat
% oot @ TEeE mh

Question ID : 1626532402

Q.1 gAfes Beme & 3eans a=ar & 3+ w TR ¥ Raeaes i T+ F v
0 rgeeqet ¥ fomer =feeema Toit 3k ofes T ¥ TeTeRw We-afEAeT W 9 T 3

Ans xl ﬁ n
X 2 grATferes st
v o WA T
X« e de

Question ID : 1626532403

@1 What type of intelligence is measured by drama activity?
Ans X 1. Existential Intelligence

/< 2. Audio, Natural Intelligence

/< 3. Intrapersonal Intelligence

o 4 Verbal, Spatial. Musical Intelligence

Question ID : 1626532408

02.1 frafaf@a & & #la TR e & 9 §9 @ 6] S S g Y oarer 7@ 32

Ans X-L
OIF / ST & 379 9@ ¥ A & § 9= #7857 2

2 3UgFA HFE T AN FHA
p




Arar-Rar 7 aSTE Rt Fr segTgea g

p
ifafafer amenfa ot & &9 &5 #§ Sguar =)

Question ID : 1626532398

Q1 @ g7 § 59 ggia 3R Fomor & seui & TWHL TR & TE AN A G S © 8
3 & B ww AR T R e F FOEE T RE s s d

Ans \f1§l%ﬁ|'-31TﬂTﬁFl'3-I§ﬂE
X2 gfgT A
X3 garrer fvaqor
X 4 gira fRramor

Question ID : 1626532399

Q.1 g =" Ty § a=ui & 0 TRRRet § wuiEs Semew § Puwr #@ ofie Far wire S
4 s & THST H THE I

M wretaE st ot auteror

X 2 gorayoTeAs gadr Y e gomer
X & WA AR Ao 7wt

X« grafes AR dEgpfas e

Question ID : 1626532405

Q.1 wrufEs X #F oTH & R A G 97 Fi @ aeRs T § e e gefam & w9 & ardiis
S gfRrerur wr g Fr amERTEaT A B2

Ans xm ﬁ;
X 2 gy #r FAr
X 3 8N, 38, FFH

4 HITTT, AYAT

Question ID : 1626532410

061 it & TAE FErur 3t wR Raa F ehia & Rew Seaeag 7 ¥ 9 R 8y F e
@ fewwT 27

Ans o1 oS
X 2 HEATCHS
X 3 gt
v FAETeAS




l Question ID : 1626532414

Q.1 =T 3R Faeeaor FeeHT gaRT fRRE # & S e dtw Rew & Semteta s anfEe @ i
7

e X1 Y Shee A @ e ik Tme
X2 Sfaa F Hlerer AT AHATTSF HeJporar

v &
sy T, a8y fauer 3t o genfig Ot & e & Sy

X 4 Fe=T F ATIA-TTeT 3T T==T T S@HTT

Question ID : 1626532413

U Far Fr WreT I F FIT oo andr §2
Ans “1ma‘ﬁq

X 2 merr et F T AATHE

X o Freaerr seuw $ sy

X4 o S0 v & sromET & oF

Question ID : 1626532406

UV AT F ¥ FiF-ar e e & FR g g 22
e K. o, gus ke (@i i)

X 2 sTTa=TeHS BT

X3 grafaes Fleer

v o a1fy, TEeRdT, TaTodT, FieTadl, TEeee

Question ID : 1626532396

Q.2 Erratic, emotional and unpredictable are the common characteristics of which of the following stages?
0

Ans X 1. Old age

# 2. Childhood
' 3. Adolescents
/X 4 Infancy

Question ID : 1626532412

Section : Subject Related

Q.1




F UH SO AR WEE AP FE F w9 H GG A §, Ol A 9 & U e
fre & = # zmatyd B o ¢ o See ofvomress o aege @ #9 seOew @ € S
wEE ¥ o swaeh ik wmE ¥ v aweeas @ §
e X0 ¥ waw
X 2 99rET R
v 3 T e

X4 Hig F g

Question ID : 1626532425

Q.2 Fameeie wfiveror Rt F= F T 9T e § Sww s 7 g F e e F
forr = 7 #

Ans (1.
fafdrz Fherw, dede AR AT 39F0T gFd TReHUT F AE

X 2 TRreT 3R A= & Alger wgfaar # FEee

A5 e et #Fr Agad & v awar afte w
X 4 TNBTOT TSR F A H HETAA A

Question ID : 1626532428

O TfRa & ¥ FF T iR Fr Herd T F RN 7E E?
Ans X 1. 3FEH T i aREae & e

X2
AT & 99T ¥ @ a9 9EATHT & 39K #RX g ¥ Quesr

X 3 grefr AT TUTs gE
v i e 3R aee § aese e

Question ID : 1626532417

Q4 gryfEes R & yeudT SraeiE F miaer B § O #iF 5 o S P
Ans ?{'1,

fafirse et & yguT S & Feeme, wwoT a1 AR, dreawei Regew sy

X 2 qIAOT FT TEUA

p

ST, HETge = AR A Reter @ @gaer &

(4

T T U W UG Ha-G5 TUETeRT F1 TIGETOT AR FiRvator

Question ID : 1626532432

Q.5




ez & o / o F =T & fEae F v 5o TRE F A9 gEue T AT 2 2
K. e 99 e, IRERE, TeEE, gUET Ted

X 2 Tpe FHISHET, T

v 3 fareres, Rerrar e, afEs, 78, Rfecas

p

Question ID : 1626532420

Q6 srprafier weve #F Riee &1 sifee # Tewtara e 8 &, e v & osa-
e X Fw fOretor WUAT & @TY W ST

v 2 TETHA IR

X3 ot & osmaee

X 4 IIESTUHRA e H AdTER

Question ID : 1626532431

Q7 prromEt & fe THEer W 99T @ F T R e B e e e
M R ¥ A & w9 dew & o Fere)

X 2 gafr Fammait F @ wETET|

X 3 AT A Y YEH H SEAAT|

x4.mﬁmﬁmaﬁqﬂrml

Question ID : 1626532423

Q.8 Rrem Huew F HOAT TET e Fr AfEt & AR F0 TAgET WU ¥ TAT & ScEEs
Hﬁ@g%,ﬁ%%ﬁmﬁ#mmﬁmwﬁamﬁﬁm?m
Ak oo & EeEE sTaeuEt # dER = TFI

e XK Raw favers ww
v 2 yiEsTEs R gg
X 3 Taegem wfRfa
X 4 e aTeT |

Question ID : 1626532429

Q.9 Tyczrerw R F o=t Fr Tt & e v 39w Fw
a. ¥fdemEs  Fem Fr =mEEm, S TEA-ONeT fERT AT gEest F o my AfEeEwr & g 51
Tw
b. WO # FUN A F AT Al § e 9 A
c. grer-grer famw e
d. ST ¥ 9fER ¥ aaE W= F Bre Rt @ 55 | oS




e X1 a3 d

v2a bi3lrc
X3b d3c
X+askb

Question ID : 1626532435

0

Q1 iwR & #gER Regew veus EY & FET # AATUeR HiT §eeT e 6 Ted & e

g9l THTHEr T yemsT FET VI W X F U gl

A . TasreTeeT

v 2 R o sroTE F fEeEeE
X 3 TemmeT &1 g

X 4 T #OTH F T

Question ID : 1626532430

Q.1
1

YW FNE § S o F B F oaw ave ae @etw F w9 SEga F $ 6RO # 9AE
TS E

X seefEE AR AT s

X 2 3T #Fr FeaEaiHae ¥R afFara wgse
v o cafdaera, aEt AR TRfETET s

X 4 HTEIT AR HeT

Question ID : 1626532427

Q.1
2

oI / s Hr geT & v deeds #osgerar #7247 22

Ans 2(:1,

ey Tew @ g wf@seEs Res 99 @ B s = ifge
v

Rty Few S R S5 SRS, FEeel, IWE AR e WA FIE FH oAl HIT HBearde e
Haerar 3t feaR @ st =ifew

X s
fRreror 3t Rerday Faw @ Fged yeua a0 Fasar @ FE T
p
YHU ZaRT ATHsTaHi! [28Tehal T&TH I STHFNT ST AT

Question ID : 1626532422

Ans

Q1 7 % F1 S 30 e Regew § FHEE TEARET # aHT H B FeEr wehtear 87
3

F R




ey g & fow few w7 @ e aaan gy REw a1 srdes wr

X 2
TASTT & TEEIT B TFHo & FAGAT H AMHST gt 1 HHI0T

v 3 fRreret AR IRERT *F gfREr o
X4 FHEE ¥ WeEdr & @y fAufda daF e

Question ID : 1626532434

U PR # ¥ e R Ged ARRRE A a8 P
e X gr [ oTErst & aRgeEar # R

X 2 Tre 3R s ﬁg‘-'maT

X s @ & afdear AR wefos qoo

v 4 mrar-Rar S ardse

Question ID : 1626532424

Q1 3gRE = @ wEE o ArEE TR F oy Gt F smrsar & agieT Yer @ §) Rret
5 o wewr F wEw w1 F B BEREE § ¥ 0 a=Ee o7 sedEe S = 32

M o ST e
X 2 ofdepe ST
X s e srafgsumar
v e AT

Question ID : 1626532416

% mm#mmmmmﬁﬁ%
Ans 4’1,

F=at % v giea ARle o #, FEeHE Yo, HAT A g, N B s, TSaEA
Eeeicy

X2
aioTH AR R, el -ae aeer WA, HeRrET s A T
p
p

Question ID : 1626532433

%' Racarert # wfaw smaerd R AH S wadr §2




e X1 Rregme afeR #F W T # aere w5
V' 2 H9eT geue B9 #T Hemrg S|
X 3 TOeTTeT 99T H FF HoA-TAHAr T cgITT FH|

X 4
et W Basor g F BT = & 9RET w1

Question ID : 1626532418

U Fr feT ¥ gev § ReRT #§ ¥ FiF Fua w8 8

Ans 2(:1,
o AR FAE F FERTRAS F HEwew F fow Rerw SR @9 E

X2

3v¢ OII/OTAT3T & Haeliehed AT Hedlehed HT ATMET

v )

FI e ¥ Feew AR 92y & T ofEnt & Rl wwar
X4 3¢ mrEl 3R gurae Y oI FTEr A §

Question ID : 1626532426

Q.1 School has a total responsibility of students® safety and security. School has to follow the norms related to students’
9 safety and implement them wherever required.

Ans 1. First statement is reason and second statement is cause
' 2. First statement is cause and second statement is reason
X 3. Second statement is effect of first statement

/< 4 First statement is effect of second statement

Question ID : 1626532421

o e & ¥ Slaad spiee duee ¥ seven Gy §2
R S R—

v 2 #TIER, 36T TFAT, 3w, Rfoar

X 3 SeHA, F6, WEe

Al i T b o

Question ID : 1626532419






